- (7&‘{—'417' s D7 = '{)(1:'7')47

@ ‘S:(vO = S 4 4 — M < =) x*=z
AW Y t ) F Y x=*V2
Man rne ! Mo 1 e Y /T - __(W,qz)7'+7 vcceny  hten
xS A e oWt "o
W= % X A x=%2
s A w= TH, -
(£ 2D
1.0¢ X%z =
/R *:tﬁ
Clede: F@2) = 244(=) -4 = 7
—()(I)"j—f"(—\ = 6
£ (3) =34 1-[(4 — 4 = 3-43{,—5!(0\2\ layj()



L\f‘.‘. 4(\1(‘,

N TE) > g = £ + Q9
Lo a0 0
: S0 Rt $(-*)
( v
= (%) o) “ N1
SE¥y = K= o)
= S0 o) SI=xX) T F() () T Lo+ - o)
e = L0 - gl
= —(£W ‘
SGL) = £ q(-x) ohd . ol d _ (b_p\j %
= -C(#ﬂ\k" 0)(*\) %\A\rxfxxﬂﬂ ‘%\Av\aﬁﬂ’ - ‘&W‘Axéﬂ
= &)
=) = Sy enev 4+ o = e,

G~ , Wm



O
foy= 10 = Jyy "W

—

~ =) ,3.15-\
“7(x "+ 2% 4 oD z (-7)

= —7(XL+ 2 * 4—]) 47 +16D />:

-7{)(.;]37'_,_“7 =0 \erdtx (__]) |67)

@ M4 n
N’L+V\2 i3 a'vvvJA ~S VQ‘:\w

2
» (lh«m) > f\g— -

-

(v = 260 + An”® St T -k

A 1» 2
P6Wlm\’ ’\‘:\ ':“} - /,2503 ar
| Ny e & — =
S5O

2 (2)

S W= S
1

o = 16000 i A 7,{5-1:1)= (7ﬂo\¢ - S3o0



1 *Ql‘?é = -3

N oD sy

“%\M*Gw
hovt |3 eodion = Hovizetad Roflecom
+
S BE Verb el Refrodiem

\'\o\r\‘usV\J"zQ Ty
Ol ame E 1
Lo = $(=D || 10 > —
NeorkicR :
- hortoded flip/
( Somne vy S cledlon — sume

Y *D . - )l\rxlv&&) ¥-\ee \/5
oy vt




(3

&>

Mm\'\’\\o\ylv\{ox\r\{ 2 Ad M

Zi %Y\V\\C

]

\\ncvcbo"
v
LX)
o Mtbplymg vy T heet B
E

Sty
%\ﬁ» Quamnav




2,

—

£ — 0o |R

[
—

g0 = U=x dosin of 5

{00 = \{x dowzira 93/ £ fo,oo)

£ VN -0

Lo = x’@

('-ao/ oJ

é\..

-1

Syw e

) ax )

Qe “((x\—,

> S
FE= (= = (%) /
r\z;r ")(j +x = = ()(S-X\ — __((\‘)
o b\ns—\ho



‘Y()()-: -Sx -6 ) -5ly) -¢
(@ ARAC Woo CLFED), (4A)

(- (4, -20)

/
~—_"
({) (a\,ﬂm) , (L”\C(@B £1%) - £(a) A\
= - o (s"“
o (%) 4 (i)
( (fl’ 0 ( U \ \ C £ (x4 — flx)
oo, X2 9, h
h) N
{ (7‘%)‘(:(2(4’ ) _HX) o Cdadw , Phic b
(%, f0) : ehould Lo ﬂ"“"Sm\
| ; dooac 3 el 4
\ >"~ X+h
* b ! b
(j(lJ—j(UJ) _
2—0 o
— -
\ e
v Cow%\o_r:f\:‘\:) B{L
(b;(lo)) "‘ (1;'“7))
(omplle <lgre o) o D,
4,03,}:& .k\‘ul—_‘""\ o
—_— = 2-6

;-
n-1
F4)—f(2) (L”ﬂ"))
;)




MA115 :: Section 2.4 :: Function Transformations and Max/Min

Sketch the transformations indicated in each caption. Scale the axes as

appropriate.
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MA115 :: Section 2.4 :: Function Transformations and Max/Min
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3. A function is even if f(—z) = f(z) and is odd if f(—z) = —f(x).
Indicate whether the following functions are even, odd or neither.
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4. Ts the sum (or prduct) of any two even functions even, odd or neither?
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6. A general quadratic f(z) = az®+ bx + ¢ can be expressed in standard v
form 1N J o
flz) =alz %) +k
by completing the square. The graph of f is a parabola with vertex O“'l‘)

(h, k), and the parabola opens upward if a > 0 and downward if
a < 0. If a >0, then f will have a minimum value k = f(h). If
a < 0, then f will have a maximum value k£ = f(h). The algorithm to /'Q\ )

complete the square is as follows: 2 2

\—ls - - 2 v
\ @ x)—ax + bx\+ ¢ (-7;\\ e

2
? =q(xz+—x+—2)+c— @)
e
b\? b? k kA ,S
= + — + - — sSTa . .
a(x Za) ¢ da
~
cCcuvs hare, \@ S GV RNV e/
—
Complete the square to the maximum value of

f(z) =100 — 14z — 72°.
-7(»(1-»2*) + Yoo
<7 (x2s2+ A1) 2 e 4+ 7
. ,

_—7(3(-#!‘)1.-‘- 1)

ME A vele = )
scaun @ *= —|

—




MA115 :: Section 2.4 :: Function Transformations and Max/Min

Sketch the transformations indicated in each caption. Scale the axes as
appropriate.
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(Mxm.s €)= €(x) T

4. Is the sum (or prduct) of any two even functions even, odd or neither?
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\
6. A general quadratic f(z) = az?+ bz + ¢ can be expressed in standard
A —
A form L {
T bev""("} f(z) =a(x — ) +k
by completing the square. The graph of [ is a parabola with vertex
\/.\ (h,k), and the parabola opens upward if a > 0 and downward if
:‘o a < 0. If a >0, then f will have a minimum value k& = f(h). If
a < 0, then™"will have a maximum value k = f(h). The algorithm to
complete the square is as follows:
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6. A general quadratic f(x) = ax?+bx + ¢ can be expressed in standard
form

fx)=a(x—h)?*+k
by completing the square. The graph of f is a parabola with vertex
(h, k), and the parabola opens upward if ¢ > 0 and downward if
a < 0. If a > 0, then f will have a minimum value k = f(h). If

a < 0, then f will have a maximum value k£ = f(h). The algorithm to
complete the square is as follows:
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7.|The algorithm above implies that the maximum value of f(x) = az?+

br+cis f (—2) . Use this to find two integers whose sum is 100 and
a —_— - -— - -
whose sum of squares is a minimum.
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9. (This one’s fun.) Complete the square of f(z) = axz?® + bx + ¢, then set
equal to zero and solve for z to derive the quadratic formula.
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Name: MA115 :: Exam 1
For full credit, circle your answers and show all your work!
Part A
1. Solve the inequality —4|2 — 3z| — 6 < 13
46 6
“Ylz-x | <19 = (2 =% 3",::
g —y
-8 I 7 2 -3« )—L¢ -2
4 4 -2 ¥ «
2. Solve the inequality
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3. Simplify the expression and eliminate any negative exponents:
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MA115 :: Exam 1

For full credit, circle your answers and show all your work!

Part A

+b

1. Solve the inequality —4|2 — 3z| — 6 < 13
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2 1

2. Solve the inequality
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3. Simplify the expression and eliminate any negative
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Name: MA115 :: Exam 1

4. Simplify the expression below:

i1 g -
y —yx
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e R s > C
SN ks | brro&‘
5. Rationalize the denominator:
m> = M)

V3+5y - _
RS ER UV
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S (F12) = Y <2 v lz—(—lz)-.

6. Factor the expression completely and simplify your answer. Write your
answer with positive exponents. Q I . g Lo vnea
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Name: MA115 :: Exam 1
Qa"—-?x -2)

7. Perform the indicated operations and Slmph
r+1 ( \
x 4T{x+2) ()( 2)
( x+2)(%-2)

._.—- 'ﬂ ¥ +2 X417 \
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8. Factor the expression completely.
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9. Find all solutions to the equations:

22t + 1822 — 54 =0




Name: MA115 :: Exam 1

Part B

10. The line segment between (—1,1) and (4, —2) is called AB. Find the
equation of the line that intersects AB at its midpoint and is perpen-
dicular to AB.
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11. What quantity of a 60% acid solution must be mixed with a 50% acid
solution to produce 300 mL of a 50% acid solution?

Llx) + s(3e-1) = 360 (%)
Joh A S SX




030 - b

*
- —
Name: MA115 :: Exam 1

4. Simplify the expression below: ’7‘
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6. Factor the expression completely and simplify your answer. Write your
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X2 - a
7. Perform the indicated operations and simplify:
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@ Find all solutions to the equations:
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Name: MA115 :: Exam 1

Part B

10. The line segment between (—1,1) and (4, —2) is called AB. Find the
equation of the line that intersects AB at its midpoint and is perpen-
dicular to AB.
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11. What quantity of a 60% acid solution must be mixed with a 50% acid
solution to produce 300 mL of a 50% acid solution?
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